EARAROBEEIERT — 2 N— IBISH —F

201757A2H (B) SE=%2H

ICMC1—6 C1 #5%—# EREE R
[A&4] 1 7 :400,000 @ ~ 2 3#%:100,000  ~ 3 3#&:50,000 3 ~ 43#:30,000” . 5 3&:20,000 ™
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N o — Rt :29. —4-3- . — BIFFRET (FH)
i o | AL YaTIEFL it 5 FHn 1(2_9)8 5-4-3-2 | 39.2 10 ﬁ EE*;E
LTUBARIL R BBy Th—5— T B
. = P i 7 | ANERE 1:30.3 1-1-1-1 [40.1| — 5 454 | BIRFRE (FH)
2 7|Ea—FT14725%— #53.0 @ 1/2) 4y | M) NS=bF—2y TEER
L:JZ27248— BEa—-FT14T71RbL N:Eie)
— < LHIFE : -10-8- - BIRFRE (BH)
3 g FLTINY i 3 ) 1.(351>.3 11-10-8-5 | 40.1 3 ;117) 5@;;%&
b=tk LERY B:FLTITEZR ERAS
: o4 | BIR 1:31.4 6-7-6-3 | 40.4| — 2 440 | BIIE— (BH)
41812 AFA4 Kb 56.0 (3/4) (+4) kS ]
R:T1—TZh4 B:214%31-X EFFEL BRI
s a1 -6 2] — I (B
N BRI # o4 | FER R L |mE=
R:xa—)I0-x B:HLIA -4 sl $r—
3 “ 4 5 | THEK 1:31.6 8-8-8-10 |40.2 | — 5 447 | BREMEEH (FH)
6l5|5|>2EY b 53.0 (1/2) o | @) 7oRazh
L:772)I7 B:wA1T12TX [/ Se ]
. 4t 3 | PEED 1:31.6 7-6-5-6 | 40.9| — 1 460 |MINEBE (BF)
] 4|21V 56.0 (NF) C10) | RS
Z:a—-visrf4n By /evx7y El=X njibiec)
j A f 7 | BIEGL 1:31.9 4-5-6-8 | 40.9| — 9 | 472 | Ei&E— (S
gl7l10| 7T hTN—=327 54.0 (4 1/2) Ca |EHEE
L:Weh—> B:TvIIM4> $#HE IER
S s = = PABERS :32. 02— . — AFEZ (FH)
ol1l1|57>57u- TR [ R P | maea
R:Tv TRy y b B:x2a7LR b AT OIS
4 6 | BRI 1:32.3 10-11-11-11 40.3 | — | 11 | 460 |RESHE ()
10 8|11| ¥ vF®A—I 6.0 M oy | @ w-xr7
L ZZXHT =y IR B:y—OriN— 4 IE
= 4 5 | BURFRZI 1:32.4 2-3-3-7 |41.8| — 7 475 | BIRFEE ()
17| 9| FTHIAZ— %55.0 7€) Ch | BEEA
L:XZyvzlh B:f—%v bX&— Bk
OB 4 9 | WUEEES 1:33.7 12-12-12-12| 40.7 | — 12 | 510 | ABIERA (&H)
12|5|6|/NV T — 5.0 © Ly |BEENS
L:7NHEy b BUAC T4 —/NL—FK BA77—L
® I —F—EBIERL
13=zr= 7,(1,9),10,2,12,4,5,3,11,8,6
Aol=5r= 7,1,9,2,10,4,12,5,3,8,11,6
G§a=7r= 7,1,(2,9),4,(10,12),(3,5,8),11,6
41—+ — 7,2,12,1,8,4,9,10,3,5,11,6
[ RN
B OB 2 3,640 714K 2-7 4,530 e & 2-6 7,130H &R 2-7-8 29,050
8 B 2 1,110 2-8 4,690 B & 2-7 10,970M JEH 2-7-8 310,490M
7 430M 7-8 850M B H 2-7 25,140M
8 200M

ABICOVWTRDTEEERROODE. TR LIV,




